Use an appropriate linear approximation to estimate cos™ 0.05. SCORE: /5 PTS
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The angle between two adjacent sides of a triangle is 120° . SCORE: / 8 PTS
One adjacent side is 6 inches long and shrinking by an inch every minute.
The other adjacent side is 1 inch long and expanding by 14 inches every minute.

At that instant, is the third side expanding or shrinking, and how quickly ?
You must state/show clearly what each variable you use represents.
You must show the units during the intermediate steps of your work, and you must state the units for the final answer.
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Prove the derivative of sech x using the known derivative of cosh x , along with the quotient rule. SCORE: /4 PTS
Show all work. You must NOT use the chain rule.
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A ferris wheel with a radius of 10 meters is rotating at a constant rate. SCORE: /13 PTS
The bottom of the wheel is 1 meter above the ground.

A certain seat on the wheel is currently 17 meters above the ground, and rising at %— meter per second.

How quickly is the ferris wheel turning ?

You must state/show clearly what each variable you use represents.
You must show the units during the intermediate steps of your work, and you must state the units for the final answer.
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